Soustraction Avec Des Zéros (])

100
-92

10 000
-8900

100
- 65

10000
-3760

100
- 42

100
- 35

100
- 69

Calculez la différence.

1000

- 604

10 000

-4870

1000

- 830

100
- 30

1000

-753

10 000

-9790

1000

- 499

100
-21

10 000
-7 504

1000
-71

10 000
-1735

100
- 87

1000
-722

100
- 40

1000
- 155

10 000
-1785

100
- 63

100
- 87

100
-18

1000
- 534

100
-21
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Soustraction Avec Des Zéros (J) Réponses

100
-92

10 000
-8900

1100

100
- 65

35

10 000
-3760

6 240

100
- 42

58

100
- 35

65

100
- 69

31

Calculez la différence.

1000
-71

929

100
- 87

13

100
- 40

60

10 000
-1785

8 215

100
- 87

13

1000
- 534

1000 100
- 604 -21
396 79
10 000 10 000
-4870 -7 504
5130 2496
1000 10 000
- 830 -1735
170 8265
100 1000

- 30 -722
70 278
1000 1000
-753 - 155
247 845
10 000 100
-9790 - 63
210 37
1000 100
- 499 -18
501 82

466

100
-21

79
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